


Tornador STEAM, 7 bar

Part no. Item No. Description Quantity

1 UADZ0016  Earthing sticker 1

2 UADZ2508  QV6-G2000 front pannel label 1

3 UANP0000 Fixing ring of power cable 1

4 UBLP0008 Cable connector 1

5 UCB22600 Wiring for Steam 1

6 UCB25700 Wiring hot water function 1

7 UCNP0000 Faston cover 2

8 UCNP0003 Female connector 5 poles 1

9 UCT40000 Polished Genovese Chain No.10 0,2

10 UCV2SK04 Power Cable with Plug 1

11 UDA00000 Brass Nut DIN 985 M4 2

12 UDA00004 Brass Nut UNI 5588 M4 2

14 UDA40003 Inox Nut 5588 M3 A2 1

15 UDA40004 Inox Nut 5588 M8 A2 4

16 UDAP0000 Black Nut PG11 1

17 UDAP0003 Plastic Nut M3 Open 4

18 UEV20012 Electrovalve 2

19 UFA20002 Male faston 2

20 UFAP0008 Plastic clamp 98x2,5 18

21 UFIP0001 Pump Filter 1

22 UFIP0002 Filter tank 1

23 UGN00010 Water protection washer for water D=30 1

24 UGN00012 Boiler cap gasket 1

25 UGO60004 U-Profile rubber protection 1,66

26 UGOG5000 Anti-vibration support 2

27 UIN20008 Main switch 1

28 ULRZ0014
Melanine Insulatior 10 mm thick + glass fabric QV6-

G2000-C3000
1

29 ULRZ0015
Melanine Adhesive Insulator 160X105mm 

thickness 10mm 
1

30 UMBN0002 Steam socket shells upper and lower 1

31 UMBN0003 Anti-splash cover plus spring 1

32 UMNP0004 Plastic handle 1

34 UOR14475 Epdm dielectric o-ring 120.24X3.53 1

35 UOR32037 Viton o-ring 9.25X1.78 2

36 UPMN0000 Steam regulator knob 1

37 UPO20004 Pump 1

38 UPR25000 Pressure switch 8 bar 1

39 URA10005
Straight fitting M 1/8 with ogive d=6 nickel-plated 

brass
2

40 URA10006
L-connector male 1/4 with ogive d=6 nickel-plated 

brass
2

41 URA10009
L-connector male 1/8 with ogive d=6 nickel-plated 

brass
2

42 URA10017
Adapter Male 1/8 - Female 1/8 gas nickel-plated 

brass
1

ver. 04.2022



Tornador STEAM, 7 bar

43 URA10018
Adapter Male 1/8 - Female 1/4 gas nickel-plated 

brass
1

44 URA10023
L-connector male 1/8 with ogive d=8 nickel-plated 

brass
2

45 URA10041 Y-connector 3 Female 1/8 gas nickel-plated brass 1

46 URA10043 Steam connection Male threaded 1/8 type NA 1

47 URA10069
L-connector 1/8 Male 1/4 conical nickel-plated 

brass
2

48 URA20008 Reinforcement sleeve d=4 outside raw brass 9

49 URA20004 Reinforcement sleeve d=6 outside raw brass 2

50 URAN0011 Cable reel 2

51 URAP0015 Nylon safety outlet fitting version QV6-G2000 1

52 URB20001 Steam regulating tap 1/8gf-1/8gf 1

53 URO00007
Stainless steel washer UNI 6593 wide 6x18x1.5 M6 

A2
2

54 URO00009 Stainless steel washer wide 4x16x1 M4 2

55 URO40002 Notched washer 4.3X8X0.5 3

56 URO40005 Serrated washer 3.2X6X0.4 for M3 pin 1

57 URO40006 Stainless steel washer UNI6592 flat M8 A2 8

58 URO40008 Washer 8.5X30X1.5 rounded flat galvanised 4

59 URO60000 Aluminium washer 1/8-10x14x1.5 2

60 URO60001 Aluminium washer 1/4 - 13,5x18x1,5 1

61 URUN0008 Swivel wheel for QV6-G2000 4

62 URV60002 Aluminium rivet 3.0X8 UNI9200 round 1

63 USEP0001 Refill water tank QV6-G2000-C3000 1

64 USH23512 3-digit display 1

65 USH23514 QV4-QV6-G2000 Main electronic board 1

66 USI02004 QV6-G2000 raised lower body 1

67 USS02004 QV6-g2000 raised upper body 1

68 UST00000 Bracket 1 hole for thermostat 2

69 USU02600 Tank support QV6-G2000 aisi 430 1

70 USU02601 Fan support Aisi 430 for G2000 7 bar 1

71 USUP5001 Steam tap baseplate 1

72 UTAN0001 Refill tank cap 1

73 UTE20003 Thermoprotector 1

74 UTE20007 Thermostat One-shot 2

75 UTUP0012 Silicone tube d=8x4 0,65

76 UTUP0015 PTFE Teflon tube 6X4 mm 0,93

77 UTUP0020 Silicone tube d=6x9 mm 0,33

78 UTUP0023 PTFE Teflon tube 6X8 mm 0,26

79 UVA20003 Safety valve 10 bar 1/4 M 1

80 UVAM0000 Trigger valve S11 brass 1

81 VVEG2000 Axial fan 230V 60X60X25 mm G2000 1

82 UVI40006
Self-tapping cross head screw 4X20 for plastic, 

galvanised black
6

ver. 04.2022



Tornador STEAM, 7 bar

83 UVI40007
Self-tapping cross head screw 4X12 for plastic, 

galvanised black
4

84 UVI40010
Stainless steel screw UNI 5739 hexagonal head 

M6x10 A2
2

85 UVI40013
Self-forming screw for aluminium galvanised M 

5x8 cross head
3

86 UVI40054
Self-tapping screw DIN 7981 cross head tx10 

2.9X6.5 galvanised
13

87 UVI40055
Self-tapping screw DIN 7981 cross head 4,8X9,5 

galvanised
2

88 UVI40057
Self-tapping screw DIN7981 Torx 10 2.9X9.5 

galvanised
5

89 VCA25300

Cylindrical boiler d=145 h=105 internal heating 

element 230V 2200+1000W thickness 2 mm with 

drain

1

90 YSO03500
Level sensor complete for version QV6-G2000 1/8 

M l=78
1

ver. 04.2022


